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An examinee must not bring any loose paper, book, etc. except the Admit Card to the Examination Hall. Any examinee found in

possession of even loose papers will be EXPELLED.

No extra sheet will be provided for making notes or calculations. Candidates may use the inner cover pages of this booklet for

this purpose.

An examinee must not talk to, disturb or seek assistance from a fellow examinee during the examination.

No leaf of the booklet must be torn out.

Any mechanical calculating device (calculator, etc.) shall not be used by any examinee during the time of examination.

Mobile Phones shall not be used by candidates inside the examination hall.

No candidate will be allowed to leave or go out of the Examination Hall during the first hour of the examination.

i. Questions are of multiple-choice type carrying one mark each and all questions are compulsory.

ii. Students are required to write the correct answer [i.e. any one of (a), (b), (c) or (d)] in the box provided alongside the
question.

iii. A candidate having completed his/her question-answer booklet must hand it over, even if blank, to the invigilator
before leaving the Examination Hall.

Contravention of any of the instructions mentioned above shall render a candidate liable for disciplinary action as per rule.
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Ajmal National Talent Search Examination, 2008
Class: 1l

Time/¥N¥ : 2 hours /<61

INSTRUCTIONS / fStisitgait ¢
1. Attempt All Questions.#ATSTHRCH! 2xq Teq H4 |

Full Marks/ & 799 : (30+30+40)=100

2. There are four options to each question. Choose the correct option by putting anyagnr® cofor d,
in the box EIfetst et 5If<G! faee Tea fuat wiitr | ww Teach! Ak Slemz Fiwe o<t AF6S a, b, car d fefar)

General Knowledge /sigi<e &is

1.  Children’s Day is celebrated on—

I oI iy <y offeT 1 = 2
a) 10th DecembgrOfbmaa b)
c) 14 November/l4cssw d)

5th September/&rbss
22 Octobetr22 w@Rs

2. Who of the following is a Grand Master of Chess in India ?

S (PG SO YRS &l B 2

a) Viswanathan Anan@ie s b)

c) Anatoly Karpoysiics=i #i<e® d)
3. Whois better known as King Khan in Bollywood?

IETTTS {58 A1 JfeT (P SIS 2

a) Amir Khaneniig 2= b)

c) Salman Khafem=ie ¥ d)
4.  Whichis the chief organ of taste?

R AR S5 (P! 2

a) Lipsies b)  MouthsR C)
5.  ESKIMOs belong to which of the following country?

QR 31T (I (i IfFwl 2

a) Greenlan@eieTe b)

c) NewzealanfeSieies d)
6. Inwhich Indian state is Kanpur located?

OIS (P TETS P SRS 2

a) Uttar Pradesfies s b)

c) Uttaranchafbesizest d)

7. Which organ controls all the functions of our body?
(I S5/ * I P! I Toyzreel e 2

a) Brainwsreg b) Hearfzmiis c)
8.  Zebras are found only in

CSTE W . (GQINIE]

a) Indigess b)  Africa/eifzee e)

Garry Kasparg/@i<t zsi<e
Anupam Baruafwesis <<=

Shahrukh Khamizes 29
Irfan Khanzss= 2

Tonguéste d)

Nose~<s

Saudi ArabigSa=i<
Englanggseis

Assantse
Biharf<z=
Lungsziswie d) Leversfe
Americasiitare  d)  Arabiger<e

Contd.
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10.

11.

12.

13.

14.

15.

16.

17.

18.

Where would you find the Buckingham palace?
JIfFRIN 2l T A1) 2
a) Parigeif<s b) New YorkSs® ¢) Londonsias d) Romem™ |:|

Who among these Presidents was also a Scientist?

FfeTfe 918911 TRETR (@ o [ s ifee 2

a) Sarvapally Radhakrishnarre! 3t b)  A.P.J. Abdul Kalanta i ¢er =i=et et

c) Dr. Rajendra Prasag Sicery o>w d)  Dr. Zakir Hussaif®: @i 202as |:|

Who created the character “Muglee” in Jungle book ?
TP (WIS BRES =l (I 2

a) Rudyard Kiplinggewrik feifere b)  Premchantkese=

c) Jim Corbetfes 3<&6 d)  None of thes@@ ae 7= |:|
“Barapani” is a lake situated in—

TR B S SRS ?

a) Assanfy b) Meghalayasae=

c) Arunachal PradegheeiieT 20! d)  None of thes@3® «bis 7= |:|

According to the Bible, where was Jesus born ?
JERER WO RwYE o +'© ([fee 2
a) JericgreR b) Bethlehuniwewier ¢)  Nazarethionwe  d)  Jerusalemseeemem [ |

“Parasuram Kund”, a holy place, is located in

TG S’ S IHS ?

a) Arunachal Pradestweeie=T oo b) Meghalayas=rs

c) Rajasthafarerg~ d)  Assaneri |:|

What word is used to describe Signature given by celebrities to their fans?
fITe e aIel SRIETTeT il 2w <5 gfet (il =31 2

a) Monograp/weTae b)  Biographigiare

c) Auto graplecise d)  Polygraplpifeie []
The following traffic sign stands for—

& TS Al DI eI <6 7ol 2

a)  Turn righteieeT 311 b)  Wait and seesiRl S bIEERI

c) School aheadnsrs %= =z d) Stop@EiEt |:|

The chocolate brand ‘5 Star’ has been launched by which of the following companies?
‘B EIT JIN bHET6 (PN (AT Seofifre e 2
a) Cadbureysso=d b)  AmulpT ¢)  Nestlgwbe d) Candicg=sfsw []

Find the odd one out—
ST FRHICO! 1R Sfereqi—

AN o (O o O

2 Contd.
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19. Identify the odd one—

[Saliaie@RIERRICHE
a) Cows= b)  Monkeyam & c) Batamf d) Pigeorri® |:|

20. Which one of the following is a National Park?
T (FINC! BT Sl 2
a) Managi=s b)  Sonai-Rup#iiiz-s=ig
c) Orangeaic d) Kazirang#&sfee []

21. Inwhich of the following places birds are said to commit suicide—
O (BT S15 21 RIS F [T (PRI = 2
a) Mahursra b)  Jatingasesli c) Tura'i d) Haflongz==e []

22.  “Jhumur”, a form of folk-dance, is performed by which tribe?
(P SHCIBIE IR 5 A T 2
a) Tea-Tribesizs=es b)  Khasigiz s=eist
C)  AngamigsTsIst SISy d)  Bodogts T |:|

23. Moonis asattelite ofthe

a) Mercury® | b) Earthefa@s c) JupitegEifR d) Saturmefa |:|
24. Eden Gardenis situated in

a) Kolkatawsmere b) Melbourngseefe ¢)  Havan&emrs d) Jerusalefsiere ||

25. Cardiology, a branch of Medical Science, is related to which of the following?
it *ige TS e BieesTe s15re Tifibs ?

a) Brainseig b)  Skinfet c) Eyess d) HeartzwPis []
26. lamabird. I have lost the ability to fly. Instead, | have become a superb swimmer. | am mostly found in Antarctica.
am|?
W2 Gy b1Z | W8 SR IR | 6y N ~fitre Acofm | w8 {eraes @ oifbpre el | 128 1< (I 2
a) Dolphinef=  b) Whalefefmme c) PalicansiFrem d) Penguifrias []

27. “Give me blood, I will give you freedom” who said this ?
‘1P (0T U, & (OIS FHTol s’ SR (I CPRa 2
a) Swami VivekanandaSt R b)  Jawhar Lal Nehr@=<=s =117 (72
c) Subash Chandra Boge® 5 37 d)  None of thes@= a&w 7= |:|

28. Who invented Dynamite ?
TIZHINI25 (P SARET IR 2
a) Sirlssac NewtoBT =g e6 b)  Alfred NobelsIs1@rs (iceT
c) Thomas Alva EdisoRiz wierel @ity d)  Graham Belb=N &= []

29. Which of the following international organisation is related with the welfare of children—
S (PG @B AR Ry I=T77T 7157 Sriow 2
a) UNESCQESER b) UNICEFRZSfFmz
c) FAO/s d)  WHO= []

3 Contd.
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30.

31.

32.

33.

34.

35.

36.

37.

38.

Which famous personality is known as ‘Big B’ ?
@I e fers el i &1t st 2

a) Bala Saheb ThakkesT 5= o< b)  Baichung BhutiangR otz
c) Amitab Bachchaffers d) Atal Behari Bajpaye®bs RISt aremerdt |:|

General Scienceg wigiee &N

Atank or glass box for keeping fish and water plants is called—

g E TS Bfow I SETIAF T FI6F P65 (PRI T 2

a) Glass palagens 2w b)  Green hougéic 218y

c) Herbariunki<ams d) Aquarium«aeRiT |:|

Which of the following is the best soil for the growth of plants ?
T (PR WG Sfegn e 1 Toiges 2
a) Sangfr b) Clay@ c)  LoamsFrR d) None of theseibie = [ |

How much of the Earth’s surface is covered with ice ?
-5 A ¥ I TR SE ?

1 2 3 2
3 1o b) 3 9 3 ) 5 L]
What are temporary teeth in young children known as—
TRy orgr S o fs et <31 2
a) Wisdom teetleR s b)  Suger teetlsH wre
c) Baby teetfférs s d)  Milk teethsi = e []
Decayed bodies of plants and animals form—
IO Tfew S 21T 551 SxT 21 I FHRY 7' —
a) Soiff b)  HumugEsaiz
c) Sandkife d)  None of thes@3I® «bis 7= |:|
Which of the following metals is found in nature in free state?
T (I 4O 2AFFOS Y& SRS ¢RI T 2
a) Sodiunk T b)  Aluminiumyasfsi~zs
c) Goldee d)  None of thes@3® «bis 7= |:|
Which of the following plant is a climber ?
ST (IR TR TR 21 91 2
a) Daturges b) SugarCangfzz c) Pedwss w2 d) Coffee plantfrz |:|
Match the following—
[SaSALRIGIS NI
1) Eyess )  Tastereiam
2) Noséqi iy  Sight/®
3) Tonguéstel i)  Hearingse
4) Eargae V) Smellciw
a) 1, 24, 34, 4-v b) 1, 2-i, 3-iv, 4ii
c) 1+, 2-v, 3H, 4 d 1+, 24, 3+v, 4Hi |:|

4 Contd.
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39.

40.

41].

42.

43.

44,

45.

46.

47.

48.

49.

Seen from the outer space, the Earth looks mainly blue because most of the earth is covered with—

IR IR CPIET BT 2191 BIET A0 el (=l AF, Ol DI R'3 (3 2JfAF Sipiea Safq i
Oceansmoim&®

a) Mountaingidsxs b) IcekTT@ c) DesertseoiE  d)
The normal body temperature of human beings is—

R = YR T R~

a) 37F b) 37C c) 39C d)

The Environment day is celebrated on—

/e Tu=T et 11 2%

a) 5thJundew b)  5th Octobeb @i
c) 5thJulyseriz  d)  5th Augush=iee

Which of the following is not a part of the digestive system ?
ST P! A5 AT =18 F2—
a) Liverss b) Pancregsei*m  ¢)  Stomactrie=ml  d)

Which planet is known as the ‘Red Planet’ ?
(PINE! 9=2F el 9 et Tl A 2
a) Marssset b)  Saturm® c) \enuss@ d)

98.4C

Lungsziswie

Neptun@=s=i=r

[]

[]

[]

[]

[]

A bird has two toes pointing upwards and two toes pointing downwards. This bird is most likely to be a—

CGRT e R oI wilgfer {pl baIgy —

a) Preying birdc®<t 5112 b)  swimming birghiceR &g

¢) Perching birdemf i 53 d)  climbing bird<eii i 5<% []
The temperature of the Sun’s surface is—

I 5P T A

a) 7000C b) 8000C c) 5500C d) 7500C []
Salt may be separated from a solution of salt and water by—

AN TG o1 T 9j 1 Afels] =

a) Filteringsfe c) CoolingReie=sl ¢) Heatingse<=s  d)  Stirringsienw []
The rear view mirror in motor vehicles is a—

I RO IR I VAT —

a) Convex mirrofeRes A b)  Concave mirrgiss wicofi

c) Plain mirroystsres wicoia d)  None of thes@aiw «blis =3 |:|
Which of the following is not a source of water ?

SR (PINCET AT BT =Y

a) Rain< b) Tubewellm®=  c) Ponds d)  Waterfilteroi® Rt [ ]
Cigarette contains which causes cancer.

ERI[C SR I— (FBR Q5K PP~

a) Melanine=i" b) Nicotine@ir  ¢) Keratinge=ifin  d) CaffeingeRe []

Contd.
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50.

51.

52.

53.

54.

55.

56.

S7.

58.

59.

60.

Which of the following is a stem?
! @iy pies 2
a) Carropres b) RadislFg C)

Gingerami d) Turnipfeems

Plants take in air through tiny openings on their leaves which are called—

IR TS Al 37 7< fou<s < feT (prert 27 2

a) Sporés9y b) Stomat#@<z C)
Iceis form of water.

T AN (NG =] 2

a) Solideir b)  Liquid/swet c)

Pure liquid obtained after filteration is called—
~IfERel oiafecT Coli ez wxet 2wl (Pl 23—
a) Filtratgsif<=rs b)  Mixture/fsm C)

Which of the following dissolves in kerosene—
T (PICE] (PRI (0T 1o ZH—

a) Watessnat b)  Coconut ojfI<==T ceat
c) Wax/ss d) Salffe

Which factor cannot change the weather ?
TR (PRI o] IR BRT (FRIE 2

a) Watefsi_t b)  Suns C)
What causes days and night ?

fuey e <1fs IR BRe 2o

a) Sun’s rotatioA Sy b)
c) Earth’s revolutiofsfR&is sif<ese d)
Which of the following is not a matter ?

O (PICET QBT I T=F-

a) Shadovi b)
c) Air/[g d)

Which of the following is not used as fuel in cooking ?

TR (PG IO 25 [RBI IR 11 727 |
a) L.P.Glafife b)
c) Methangew d)

Veingfi d) All of thesgabzRR
GageR d) Allof thesgemiz@a
Solutiorta d)  Lubricant®ret 9%
Cloudgus< e) Wind<ez

Earth’s rotatioys)fR&is si<ey

Sun’s revolutiofFEis #if@sre

Water vapous=ir aiee!

Oxygen gastie (sig

Gobar gasoik< o1z

LPG and Gobar gagif& @i (oll< o1z

Which of the following items is not used as first aid item ?

TS (P! 21 Hieesiie TR 11 723-

a) Adhesive bandagesoe Fa! b)
c) Cotton=»iz d)
An ideal house should provide protection against—
@b =T 9cq e Rief<ice faiorel e 2

a) Enemiese b)
c) Robbers and theiv&srzs i< G d)

6

Dettolceg=
Injection&

Rough weath¢r= <3
All of these=bizam

I I e N R

[]

[]

Contd.
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61.

62.

63.

64.

65.

66.

67.

68.

69.

General Mathematics/ sigie sifte

Three fourths of a century is equal to—

@ *oq fofl bofies 2'sT—

a) 25 b) 50 ) 75 d) 65
Which of the following numbers is exactly divisible by 3 ?

O (IR R 3 et 2

2, 22, 222, 2222, 22222.

a) 22 by 222 c) 2222 d) 22222
The fractions which have different numerators are called—

o =11 18 SelleIE< (PRl 23—

a) Like fractiongig e b)  Unlike fractiongsm eaiie=

c) Mixed fractiongs= @aic=t d)  None of thes@&i Qb =3

What must be added to 130 to get 475 ?
1307 =1ore I Q@I FRET 475001 =K 2
a) 275 b) 245 c) 15x23 d 15x13

Which of the following figures has equal faces?
G (PICE] 5@ SIIGIZRIS 7§ oI 2

a) Cubegs= b) Cuboidsr@zsss c)  Cylinderpel d) Circlegs
/\

The number of triangles in the fiqis—
\V

JaN

X@X foacsre 2l 3o fagem 124 ¥'e—

a) 8 by 6

c) 9 d)  None of theg&xI® «bis =3

Multiplication is the short way of repeated—

ST (PN SRIgTes bt effern 2's1 e 2

a) Subtractioffast b)  Additionycel

c) Divisionze d)  None of thes@iw @ble 723

1 of 12+} of 12+l of 8=7

2 3 4

12@l+12a£+8al =7

2 3 4
a) 10 by 5 c) 8 d 12

The perimeter of a triangle having the sides of length 3cm., 4 cm. and 5 cm. is—
3cm., 4cmsie 5em. = [FE fages sif<Hm =’
a) l12cm. b)  60cm. c) 35cm. d 24cm.

Contd.
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5 1
70. Bina reacg of a book in the morning ar‘gj in the evening. How muchiis left ?

S 1 o e
1R @ fForeig g o BISERICINS g o ST e, ey wrest e Q1f<ee 2
3 1 1
4 ) g [

b) -, 0)

oo

a)

71. One third of the largest two digit odd number is—
w51 wiep e GRS TG SYo] AL AT PO BT —
a) 31 b) 33 c) 66 d) 98 []

72. Usingthe numerals 1to 9, a square is formed. The sum of three numbers along each row, column and diagonal b
The missing numbers are respectively.
13 5171 9 (51 SR IRZ T A1 I9[CFG 510 1 T | Q51 =19, B S 17 RGBT AR (191 <o I GG | AT 7578 4=
ENIROEGE

2 7| 6

5

41 3 8

a) landsi<9 b) 9andse 1
c) 4andsE5 d)  None of thesexi= @b 2% |:|

73. The difference of two odd numbers is always—
51 ST TR AL FoT—
a) A prime numbeEb! (ifeTss 3123 b)  Anodd numbeeb! ==y e
c) Aneven numb@abl Fo] el d o0 |:|

74. A cartravels 480km. in 6 hours. The distance covered in one and a half hour is—
Q¥ SIS 6 26T 480Kkm. SIfee 1 | (TF THI® ST 1 199 T I—
a) 60km. b)  80km. c)  100km. d)  120km. []

75. The capacity of atea spoon is measured in the unit—
BIZ BIGIHT AI<e ol (STRT GPPC] B —
a) Litres®om b) Gramgw ¢ Mililires/f##om d) KilogramsfReam [ ]

76. The fraction of the shaded region in the following figure is—
T foas Bl 2171 SR BIH 7H—

&
~N N
AN
K2
olw
NP

b) d)

8 Contd.
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7.

78.

79.

80.

81.

82.

83.

84.

85.

86.

Two diameters of a circle can meet at—
@Bl € TR [IET T FRT 2AMT—

a) One pointabl e b)  Two pointgf e
c) Three point§si<b! ke d) They never megtioaie Il 7

Mary watches TV everyday from 7:40pm. to 8:25pm. How many minutes does she watch TV ?
@ "m™ 7:40pm 3 @17 8:25pm Ieticet bfS b | @2 feslie 715 6 bix 2
a) 40min. b) 25min c)  45min d) 65min.

35kg. 325g9. — 14kg. 875g9. = ?
a) 20kg.550g. b) 21kg. 450g. c) 20kg. 450g. d) 20kg.550g.

In the following number line the point S represents—
ST RN (A0 SRV (N 2wsf Sa—

R S T

U+ &l
OT =M
T w

0
0

oo R N¢)!

a) 4 b) 2 o 1 d)

In a leap year, the last day of February has—

@b SRAFT PEIRT W= (T UGS 2 —

a) 28hrs. b)  29hrs.

c) 24hrs. d) None of thes@II= @b 72x

The cost of 2 pensis Rs. 12. The cost of 2 dozen pens is—
2 B TR WIS 1251 BT 2 TSy oINS WIN R
a) Rs.72 b) Rs.144 c) R288 d Rs.120

The number of vertices in a cuboid is—
@O! SO T MY 7L ®'eT—
a) 4 b) 6 c) 8 d 10

When three numbers are multiplied grouping them in any order, the product is always—
TSINGI 72271 FRCPIEAT S 2F51S R 9[<1 BT, FETPTB! AT —

a) 1 b) Samg c) Differentfs

d) None of thes&I& «bis 723

Number of sheets in aream is—
a3 S fF R Froret A 2
a) 25 b) 50 C) 100 d) 500

Which of the following geometrical figure has only one end point?
TR (P! SIS e Nia @bl 2l K = —

a) Line segmenka¥e b)  Straight ling<= 3l
c) Rayafr d)  None of thes@aIE «bls 7=
9

Contd.
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87.

88.

89.

90.

91.

92.

93.

94.

95.

96.

The figure which is not divided into four equal parts is—
SR (P! 5@ SIfRGT A BR*e Ko @RI 98—

o CT 1717 b B 2 d)%

Equivalent fractions have same—

Y A -
a) NumeratoF< b)  Denominatof=
c) Valuesw d)  None of thes@iw @ble 723

[]

[]

Bimal bought 15 eggs. He broke 3 of them on his way home. What fraction of eggs he brought home?

NG 1561 99 [FRET e O 3 Bl 91051 RIS I8N ©Ifed | (08 SN BN e =h0eT SN 2

12 15 8

a 12 b) E C) E d) E)

A football has the shape of a—

oI AIPho R'eT—

a) Circlege b) Coneg~F c) Sphergsieis d) Cylinderer
The sum of the face values of 5 in the number 405325 is—

405325s =51 57 o1k Wmg AW 57—

a 0 b) 10 c) 5005 d 505

If the quotient is 57 and the divisor is 7, what is the dividend ?
Qe 57 < OErd 7 2T Sy T—

a) 339 b) 939
c) 391 d)  None of theg&I® @ble 723
Two-fifth of two kilograms equals to—
02 TRETIES M2 /281 R'oT—
a) 400g. b) 200g. c) 800g. d) 1000g.
The largest fraction from the following is—
ST (PN SIBIES(F ©leq wallg*—
> D) 1 q
T ) 10 ©) ) 10
The simplified value of 96 of 4 + 8+ (13 -5) x 2 is—
9694 + 8 + (13 — 5) x 2eiIpo H T~
a 1 b) 3 c) 4
d) None of thes@i «bis 2%
Three tens less than 25 x 6 is—
25 x 6= fol vl fms(iey 37 2
a) 150 b) 130 c) 120 d) 140

10

[]

[]

Contd.



97.

98.

99.

100.

Which of the following figures contains exactly three circles?
ST (CH! foae ool I@ =g 2

=/ \O OA AL 95 ,.0% do ob
0,0 b i fAN d A
? e o &
The minute hand takes minutes to move from 3t0 9.
61 FI612 3 T =191 9 (1 T1ece o G 573 =ieer 2
a) 6 b) 10 c 20 d 30
A number with ‘0’ at one’s place is always divisible by—
O3] 99 ‘0’ L1 AT RO = &
a) 2 b) 5
c) 10 d)  All of thes&Iw SGIEER

The monthly income of a person is Rs. 1575.80 and he spends Rs. 1280.70. How much is left?
QG W= NERIA GG ®eT 1575.803 =< (96 195 w1 1280. 705 | (967 200 [l 1fwe 2

a) Rs.295.10 b) Rs.315.10

c) Rs.395.10 d) None of theSe® «ble 73

*kkk*%x



